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" |\ ~Six persons Ajay, Vikas, Manoj, Pranav, Chirag and Lalit live on different floors of a six-floor building

: __hav.mg. floor numbers from 1'to 6 and 1 is the lowermost floor. Pranav lives just above the floor of Chirag.
V ‘ P \ Lalit lives on the 4th floor and Pranav does not live on the top or the lowermost floor. Ajay lives just above

Manoj’s floor. (No two pefsdns live on the same floor)
Who lives on the 6th floor?:
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(1) Chirag (2) Vikas (3) Manoj (4) Ajay
2. o fAf=d e 9T d, ‘MANGO’ %1 PIQER 3t ‘LEMON® &t OQPIQ for@T ST ® | 38 W # ‘PEACH” &1
Fofmaromemy LD, i3 ¥
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(3) JEEIU (4) IDEJV

In a certain code ]anguageg‘:MANGO’ is written as PIQER and ‘LEMON" is written as OQPIQ. How will
‘PEACH"’ be written in that language ?
(1) IEDIU ! (2) IEDFV
(3) JEEIU < (4) IDEJV
)
3. frafaiad @ @ Fa-a1 fomes wsai st 270l 1edeniy 3 37 T2 570 & HATAR TR T 2
—

1. Gentle 2. Genuine

3. Generic 4. Generate Y

5. Genetic

(1) 3,2,5,4,1 (2) 2,4,3,5,1
4,3, 5,1,24 4 1,5,3,4,2

{ } r A ‘ |
Which option represen’ts the correct order of the given words as they would appear in an English dictionary?
1. Gentle 2. Genuiua ’

3. Generic 4. Genergx_té
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(1) 3,2,5,4,1 &r () BeA303, 017,
(3) 4,3,51,2 S @4 1,53,4,2 °
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Given below is a question followed by two Statements numbered I and I, each containing some information.
Decide which of the statement(s) is sufficient to answer the question.

There are five friends — Harsh, Indra, Jai, Kishore and Lalita and each like different colours — pink, yellow,
white, green and orange. Who among them likes the white colour ?

I.  Kishore does not like green or pink colour. Indra likes yellow cégi,cgur and Lalita likes orange colour.

7™

II.  Jai likes green colour. Harsh does not like orange or yellow colour.

e
(1) Both Statements I and II together are necessary to answer the quesilon
(2) The Statement I alone is sufficient to answer the question while Stalement 11 alone is not sufficient.
(3) Both Statements I and II together are not sufficient to answer the questlon
(4) The Statement II alone is sufficient to answer the question while Statement I alone is not sufficient.
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A cube of side 6 cm is painted green on all faces. It is cut into umforrn sma]l cubes of sides 2 cm each. How
many small cubes are painted on one face only ? Py
1 9 <;'Tl
() 10 @
(3) 6
4 8

1% T & feTu e / SPACE FOR ROUGH WORK



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

247 i |

oor—'!v"m

..,.:l

B S Rl
e Tk T S

A ST 3 gvaTa & frsed [ 3R 11 Re 1T | FuEi = /e wd §Y, Wi € 9 9ETa; a'm?rmam:xmﬁa
a1, fofy Sifse s FR-ad e R st @ o su g eaar e fmaa 21

T : i T R &b
0
RENSEENES 2\ |
RRIETES T2 g AR X
m™
I mmtﬁm%;”
I wfistoEeas)

(1) ¥ fres 11 P 2
() T frewd 1 3t 11 Frepery 3

\Wﬁ@ﬁlﬁm%l

4 T fssd, qa‘rnﬁaﬁm%r

Three Statements have beenJ given followed by two Conclusions I and II. Assuming the statements to be

true, even if they seem to Ee at variance from commonly known facts, decide which of the conclusions
logically follow(s) from the statements

Statements : All books are mobiles.

Some books are cars.
All cars are scooters.

Conclusions :

1 Some scooters are mobiles,
A

II.  All cars are mobiles;. &

(1) Only Conclusion IT follows.
Q)

(2) Both Conclusions I aIUI follow.

(3) Only Conclusion I foll\‘qu.
Q)
(4) Neither Conclusion I o I1 follows.
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Select the option that will replace the question mark (?) in the given figure serics.
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A paper is folded and cut as shown below. How will it appear when unfolded ?
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136 + 224 + 8- 13 x 7 = 150 Ly
(136 37 224 QQ\H\% S
(2) 837

(3) 1363ft7 | (L‘?,%

4) 133fs \o°

Which two numbers need to be interchanged to make the following equation correct ?
136 + 224 + 813 x 7'<l150
(1) 136 and 224 )

(2) 8and7 1
(3) 136and7 o3 3
(4) 13and8 -:_‘J “X@ »
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(1) 19 ' 2) 15 B 25 4 23

In a farmhouse, there are some hens, cows and a person who takes care of them. If the total number of heads
in the farmhouse is 39 and the total number of legs is 108, find the number of hens in the farmhouse.

1 19 :;\(2) 15 (3) 25 4) 23

ﬁ%@m%m@amsﬁtmmwﬁnﬁ% | 36 HEAT & SHA T <4 HIT, Sraeh STgER
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YURN;JOE

1 2 3 gl 5 g7
(1) 3241675 AUNYH E D
L@ 5623471 ADUANE Y L

(3) 5637214
(4) 4235617

Given below are the Jumbled letters of a word and their corresponding numbers. Select the combination of
numbers so that the letters accordingly will form a meaningful word :

Y U R N J O E
12 3 4 5 6 7

(1) 3241675 e
2 5623471
(3) 5637214 k24
4) 4235617
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The threte \jvords given_ below are related to each other in some way. Chooscztjc word from the given options
that is similar to the given words and belongs to the same group. e
Carrot : Potato : Beetroot @)
(1) Brinjal (2) Tomato (3) Cucumber [} (4) Radish S ds
matﬁsrﬂawaﬁ%m,ﬁgqaﬁaﬁ;mls,ﬁawlﬁqagaﬁfﬁ{gm11tﬁaamaﬂtﬁm d
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14.

15.

(1 9 e, TR (2) 8, IW mﬂ,zﬁm (4) 12K, ST

After moving 8 m North from his home, Rohan turned right and moved 15 m. He then

11 m and turned left again and moved 15 m. He further
direction is he now from his home ?

(1) 9 m, South (2) 8m, North @) 6m,South . ()

turned left and moved 25 m. How far and in which

12 m, North

waﬁwmﬁaﬁ—%wmmw&mmﬁmmm%

(2) 3) _, 4
® (@9

Identify the diagram that best represents the relationship among the classes™

Planets, Earth, Mars, Solar System :

(D ) 3
®

) Q)
©)°

A

tﬁm,amﬁésﬁm%la&m,t&q%mgt%aﬁtwﬁ,mﬁm% | axrﬂ'sﬁtﬁsrﬁm% | T, ST&HOT <6

d

qﬁ’ﬁ%mﬁa&mﬁ?ﬁaa@%&m#%ﬁwﬁ,a&w@mmédé%’%? RWC,:T

e e

(3) & @

L ®
L L]

Ratnesh is Vani’s father. Laxman is Rashmi’s father-in-law and Vani is Tax{}':fl’s sister. Aarohi is the mother

turned left and moved 4

of Ratnesh. Tanya is the granddaughter of Laxman. If Laxman has only one child, then how is Vani related =
to Laxman ? ®) : A LShay — AYON
(1) Granddaughter (2) Mother ® l
(3) Sister (4) Daughter o
- = Ratvesh — Rashn)
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(3) 22 w2 L4r 20 32 14

In a class of 48 students, tﬁ?E:number of boys is double the number of girls. Manju’s brother Vikas is ranked
18th from the top. If 11 boys have better ranks than Vikas, then how many boys have lower ranks than

ey

Vikas ? hd
(1) 16 L] @ 18
(3) 22 3 4) 20

/‘]
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(3) BmEn il
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Six students Vidya, Jiya, ﬁgjpal, Kamal, Shiva and Gita are sitting on a straight bench, all facing towards

S

North. Nihal is sitting to tﬁéf_immediate right of Shiva. Only two students are sitting to the left of Vidya and
only four students are sitting to the right of Jiya. Gita is sitting third to the right of Kamal.

Who is sitting at the right griﬁ ?

(1) Gita é}

(2) Kamal )

(3) Shiva

(4) Nihal

18. = RUTTT SFar o ST 1 AfaT S IHF SR R e =it S iR |

@)PUFATPQRSVABCTRNQBCLHMA U &)
uﬁﬁqwqagmﬁﬁqﬁﬁmﬁ%@mﬁ@aﬁﬁmwuwaﬁﬁmmn’tm,aaﬁm%ﬁaa

3 & -1 e R B T 31 et 3 g T R 2
(D U @ P G) B “4) C
Refer the following letter é:é_?]uence and answer the question based on it.

(Lef) PUF A TPQRSVABCTRNQBCLHM A U (Right)
Ifthe given sequence is written in reverse order so that U becomes the first letter and P becoms the last letter

from the left side, then whiich of the following will be the sixth to the right of the eighteenth letter from the

right end ?
() U - 2 P (3 B 4 C
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Statement :
Raghav went to Chennai from Bhopal by flight.

Assumptions :
. There is no dircct train from Bhopal to Chennai.

II.  Air tickets from Bhopal to Chennai are cheaper than train tickets.

(1) Both Assumptions I and Il are implicit.
(2) Only Assumption I is implicit.
(3) Only Assumption 1L is implicit.

(4) Neither Assumption I nor II is implicit.

A Statement is followed by two Assumptions numbered I and I
and decide which of the given assumption(s) is/are implicit in the,
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Consider the statement and assumptions
statement.
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Select the correct mirror imag"e':g)f the given figure when the mirror is placed at line AB as shown below.

o O
)
[:] 5
2
]

B
(1 @2 3) (4)
t 1

@
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Pipe A alone can fil] 4
fillitin 10 hours and ¢
(ry 30

ank in the same tim
alone can fill it i 5
(2) 25
22, A, B3 C 0 e fiver fioedy HTR AR 20 7 3 oy o v ) A 5RO frerr 3 w25 A T F
o &, ST 1 50T C ey o 3, BO% M ) 32 Fa g s B 3 1 3 0 20 Faf o 8
B NH YA ST C firera fe T

¢ in which pipes B and C together fill it. A and B tog:;cther can 35
0 hours. In how many hours can B alone fill the tank ? g 4 C 4 i E
\ 3) 18 0 (4)y 20 npAtY”

2B=Y

10 ‘

A famit 1 gy oty = A4B4 C =20 200{?

(1y 15 R e T g

R \ﬂ'f 20 S 5 ~ub ’_i_ 5
(3) 24 (4) 18 @) > it cC= )
Working together, A, B3 and C can complete a certain work in 20 days. A and B together can complete it in r=S
25 days, whereas B and ¢ together can do 80% of the same work in 32 days. B alone does the work for B:3
20 days. In how many days will A and C together complete the remaining work ?
(1)y 15

g no 25,40
(2) 20 s
3) 24 (4) 18 b\&,l'ffﬁ,
23,

zaﬁ%ﬂ'«mﬁ%‘mzﬁném,sooaﬂmnﬁrmﬁmwﬁﬁaawﬁuﬁarﬁ%aﬁf 6,480 T1

mmﬁmﬁﬁrﬁﬁaﬁm%lamu&ml%aﬁﬁmﬂaﬁﬁmmaaé%amméma&mmmﬁﬁ

a2 2 o E] EIS'j 47 o

() TLE3B o D (2) 71489507 %o 3y i
(3) 71,440

-
(4) T1444:50-
A sum of ¥ 4,500 invested for 2 years at a certain rate percent pef\:‘é’nnum amounts to ¥ 6,480, interest = Y3=x

&

1
compounded yearly. What will be the compound interest on the same sum at the same rate in 1=

5 years, if
the interest is compounded half-yearly ? -LFS-U{; ) 6—‘-’&"—1} < £
(1) _#1,638 (2) T1,489:50 ‘?9\45? 214
. p1e)
\/m/f s (4) T1,444 50 5 '?3-3: ,sl £hos
24, a&&mnﬁwmoaﬁﬁmwmmnﬁ%ﬁ30%%@@,@%3%&%3@&@“%%@
T % 80% = 21 o 2 PRy & = RIS s sy n
(1 12 21 16 (3) 15 '["37_&’ @) 18 Prsxd ,_,,P‘_l*g
e :
If the simple interest in 6 years on a certain sum is equal to 30% of t}}; sum, then in how many years will
the simple interest be equal to 80% of the same sum ? )
(1) 12 (2) 16 (3) 15 (.é) @) 18
" Lo
2o X L
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2020nm24ﬁaw%@ﬂma°fwmaﬁtﬁﬁa(;mh

W0
2 | -~ = f 7 aso 7460 // usf
-‘ Gy T il 420 }/30 i’:l7 V/ %
i £ 300 ¢ 350 B / : (“J/ / / %20
el B HE BE BE BE- R
oX _ - 2020 | 201 am 2023 2024 BY
47\ =g

2021, 2023 3T 2024 3 A 76 ST T SE TR, 2020, 2022, 2023 3T 2024 3 A ot & el
‘),')3’?_ R TR SITTT (SRTHTal & ek 31k e W) & ?
(1) 232% (2)22:9% (3) 20:7% 4) 21-8%

s;«
Study the following graph and answer the question :

b

Imports and exports f(\gcomlunyd ring 2020 to 2024 (in ¥ crores)

700T- L / mpert 8 L
600 1 | mworts Zﬁj 0 550 550 BOOL"—
500 + 0 0 UG/ /4'60 /

=y i Z

: 42001 % é % é

e (*Yl;lr —_—
- The average imports of the company during 2021, 2023 and 2024 is what percent (correct to one decim
place) of the total exports during ZE%O’ 2022, 2023 and 2024 ?
3
(1) 232% (2) 22{\9% 3) 20:7% 4) 21-8%
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Feefl T &, STSfoll 1t i et ot v 200 a1 & | T e A, Trgn o T WIE 60 ¥ o
ergl 1 ST S 3 v 35 o s e it 3 o e 5 S | wrgfi ¥ o
ST R 2 T ———— %, b B ] (;'3,

(1) 69 v (2) 5165 3 71 4) 67 B
In a class, the number of girls is 2094 more than the number of boys. In a test, the average score of boys is
60 and the average score of girls is 5 more than the average score of all the girls and boys in the class. What
is the average score of girls ? 5

&5

(1) 69 (2) 63 3) 71 =R 4 o7
1T A SR B 3 UehIeer i urt 3 svqarer svrers 2.+ 3 o4« 5 8 1 ASNC B foer s g e, v

. ) @) . Y "j
Forare STe T e 3 et o wry SS%‘.’»-&@ETQ? L] A

- b ¥
(H 35:3 2) 2:1 (3) 4:3 ) @ 3:2
The ratios of alcohol and water in solution A and solution B are 2 : 3 andyt ¢ 5, respectively. In what ratio 53t
: 1 - ‘ :

should A and B be mixed to get a new solution containing 58;% water ? L6 ’"6% (>
(1 5:3 2 2:1 B (3) 4:3 (4) 3:2 0P
%ﬁf‘@?ﬁﬁm&mnﬁsﬁmn@ﬁﬂm M © | ST 3ffohd qod W 5% T2 ST AT ST, 7Y 36%
1 T BT © | TS Sifohd T W 25% B2 2030 e e, ey whvora @ g 2 .4 300)XIS .
(1) 20% 2) 18% () 24% e @) 22% T L A

The marked price of a toy is T 300 more than its cost price. When it is §old by giving 15% discount on its
marked price, then there is a profit of 36%. If it is sold by giving 25%(discount on its marked price, then

what will be the profit percent ? @)
20% () 18% (3) 24% ] 4) 22%
()
g Pa = (? i

af%(a+b):(b+c):(c+a)=6:4:5%aﬁta+b+c=10%,a°rab:bc:\c§w%: CESS 1i ”\f
(1) 5:7:3 o (a+pic) = LS @ 3:7:5 | © " T 3
(3) 21:35:15 etbit =3 1 anmar3s (15021 ciq =22 70
If(a+b): ‘(c+a)=6:4:5anda+b+c=10, thenab:bc:caisequalto:
@ t?) .(b+c) . p) s . Q= £ | o bo re
1y 5:7:3 ) (2) 3V7%S ap 31

15 __ 10 - | 10 3P
(3) 21:35:15 R ) 35:15:21 cL= - | 3s CER

3 =10 as 15 2)

‘I‘ﬂm@a@ﬁ@ ffe=r .q:?—qq_": et § Wﬁaggﬁﬁﬁq@*%“/ﬂ‘@%gﬁg@ 159 BT a2 | af
7% e Frsra e 3 95% T A, T I et iy il e g 2 E\‘ |
o D et @ 187% g @ 155%

Reshma sells an item at a certain price. Had she sold it at 68% of that[Sglling price, she would have lost
15%. If she sells it at 95% of the original selling price, then her profit percent will be :

1y 125% 3 2) 2025% \)})/1‘8-75% O @ 155%
@)
Y T T4 o feTUW7Tg / SPACE FOR ROUGH WORK oide I
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1

I we 1 0.

§2 5 ¥ g T T e
<) BRI ) 1t g 131 57,4205 '15 R S i s M g7
Tl 22 AL F AN S— 32
@ 315 72.l§‘<—=¥'7|'132+8.4337T16$I 53 . 2 v 3
()3 =) 2 @ 9 41
4 T 8 S B 39/
of3L ol 18 3 7 15 2. 52 MKyM Ty 2
The valye of 37z ~75 +1g5 of Ig+g+qgofdgis: ==~ F & .3
0.3 @ 2 3 9 REHC S|
32 (4 ooy e %’LJL :
. 4°m X (9)m =1 (5)2m+n + (5)3 ; 1S
(12)’""“X(15)"’+"‘2xr(4i"><(20)""1 WWW% ! w
(1) 25 @) 1 3) 2 S @ 4

a0xM

» y )
i {2 x (9)m =1 x (5)2m+n < (5)
What is the value of (lg)'}'"“><(15)"'+"-2X(4)”x(20)’"‘1 ?

1 25 5O 1 ®) 2 \ 44
33. aﬁ-g-aﬁmmi@,q@maﬁwﬁa%,ehﬁwwﬁawmmqﬁ%?
NGy x =23y -4 ) x=43fy=3 B x=osfy=0 @ x=63My=3

’ o3 4 g .
W {x(\ﬁ -digit number 3894x9\§;i}0ivisible by 88, then which of the following statements is not true ?
t‘,
)

(I) x=2andy=4 x=4andy=38§ (3) x=9andy=0 (4) x=6andy=38

| s
"’A\\/@. A?ﬁmBa&mﬁn%w%aﬁtAmﬂBaﬁaﬁmm,C#mﬁzo%mélaﬁmaﬁmﬁm

6\

ﬁﬁ%WBﬁmﬁ@%sﬁwm%ﬁcaﬁm,Aaﬁrsﬁgﬁqém@rmﬁsrﬁrmw%?-
(1) 35% @ 45% (3) 30% 4) 40%

The income of A is 32%}1/ess than that of B and the average income of A and B is 20% less than the incon

of C. If A’s income iniéi;i;ases by 25% and B’s income decreases by 10%, then the income of C is wh
percent less than the totg__l;new income of A and B ?

(1) 35% (@ 45% 3) 30% (4)40%
) M
35. S 1029, 1678 3ﬁr2386aﬁa@-ﬁ-ﬁmN%mﬁmw%ﬁm@ﬁﬁﬁWRWM%|
(N-R) FIHH ®RITE 2
(1) 31 ) 33 3) 26 @) 29

When 1029, 1678 and 2386 are divided by the greatest number N, the remainder in each case is R, Whati
the value of (N -R) ?

(1) 31 2y 33 (3) 26 4) 29

&

£y
B8 ak x-./31+ 2/3055 /31 - 2/30 3, (2x + 3) FAw

DR e u OR @ 7
Ifx = /31 + 2/30 - {31 - 2/30 , then the value of (2x + 3) is ;
1 9 (;j)) (@ 1 3) s 47
\r"""ﬁD
W a5 B -5 mm%ﬁmw&/ SPACE FOR ROUGH WORK : i
| S 229U 697
M st MmN -3 | 35 6/ !
X 3 XSy \ | A



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

‘ Adda2417

JAMEL (15) T2y | =
. Pﬂﬁ AT BT IR & ST ﬁﬁrm et e s 3 e ww, wn 3 faate 3 2f w1 g e § e ona #
= "smm & | 4R oY wret 4 Rl & | sma e o ¥ fRrofa soﬁm"raﬁ?ﬁmmxﬁmmr’:r(ﬂm
“Tﬂrﬂ B j B‘f‘g "} <> u
P - A
) 2§ 2 . ' ' e [
Y (2 33 3) s 4) 4 %9‘ R
g i 4
The time taken by a boat to cover a certain distance downstream is *S"th of the time it takes to cover the
same distance upstream. The speed of the stream is 4 km/h, How much time (in hours) will the boat take to 5
travel 80 kKm upstream ? p20 ~ = UBt 5
(235 (2) 33 (3) 5 (4) 4 o= 26
as. 7ﬁ%ﬂwﬁwawrﬁwm@wﬁsﬁ S 15 fpefieiz et @ s e d w2, 24 T

ol e /O R | 7w e ek gl 200 e el et m45fmmﬁamnﬁmmﬁm

I 9 9T e W R, f&saﬁwm(ﬂarﬁ)ﬁmaatrﬁ) As (9 xs*%,mf"‘i "é"
(1) 18 2) 20 (3) 21 5071 @) 15 - '%o';
7

A train running at 75 knvh, crosses a person who is moving at 15 km/h in the same direction, completely in '3
24 \uunds How much time (in seconds) will the train take to cross dnuther 200 m long train running at o ),,_/7

45k in opposite direction on parallel tracks ? J
18 ) b} u’ \_('o -3 7
AW 18 (2) 20 (3) 21 (4) 15 4% W
/
39 forelt ot sio 1 SR Frsa S S w5 A 30-5 em & @ zeeE @0 9H AR 6405 1w em? 2 1 Fem E £
3N . 22 70 .
R (em ﬁ)W%?(n:7FﬁﬁTQ) win o’ /uiaﬁj/—
() 7275 M “f\ﬁ 2 D
(3) 63545 (4) 6820
The sum of the base radius and height of a solid cylinder is 30-5 cm ‘and its total surface area is
22 L
640-5 1 em®. What is the volume (in cn13) of the cylinder ? (Use 1 = =) (4 (h"/ 6‘40 o
() 7275 (2) 6930 7{1)( 206
(3) 6545 4) 6820 | i
0. fredt saareR @i F e oft sl adt S 20 ¢ 7 oo ¥, i TEE amwa 1344 m 2
£ 25 gia Hiet ) A W1E & IR A1 T h) A0Td == geft 2 («l’fb) b=
(1) T4250 24,000 2 A 5 %
(3) 3,750 (4) T4,125 . PO o
The ratio of the perimeter and the larger side of a rectangular plot is 20 : 7, and its area is 1344 m®. What
would be the cost of fencing the plot at the rate of T 25 per meter ? () 5 1
(1) 4,250 (2) ¥4,000 ) =P
(3) 3,750 4) T4125 ] "ﬁﬁ;
¢ t
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AddaR¥7 | |

JAJ/E4 e e (T8 T e i
----------------------------- AT I/ Part I
1. Tferemt ge i sgeaft AR W % @i AR weE A gE € | 99 AR wreg & wm A R 2
) @ = Y e @ 7=
- The term ‘agriculture’ comes from the Latin word ‘agri or ager’. What is the meaning of the Latin word?
" (1) Vegetation (2) Forest (3) Crop (4) Soil

‘ 42, 392025 7 e 3 qeclt TR TR e e RArE w1 e gon § | 7w o frefafaa § & e

i ‘ /e gy R T R 2
- (1) ifa s o -

I} 2 et wftfy o fafea s (@)
i @) wdfsdds ()
b L @ R G

i THe ‘Fiscal Health Indeg( i{eport was launched for the first time in India in 2025. Which of the following
bodies brought out the report &

(1) Niti Aayog
(2) Securities and Exchange Board of India (SEBI)
+ (3) Reserve Bank of India

Br s (4) Ministry of Finance

R ) arcf1964ﬁmmm%m%qmﬁmﬁ%ﬁﬁﬁmﬁw%mmmwm
10 O e foRaT 2

. (1) st e “f‘(z) S RUSIC E G2 Sl U 1 (4) 'sﬁrrrmﬁ

i Who among the followmg served as the Acting Prime Minister of India upon the death of Pandit Jawaharlal
_ Nehru in 1964 ? :

| (1) Morarji Desai 2 .(2) Gulzari LalNanda (3) Charan Singh (4) Indira Gandhi
| o4, wﬁﬁwﬁf@ﬁﬁ@ﬁméﬂ%mmaﬁ%mﬁ TR W T ERER R 9
e e, ) <A A »(2) eE) (3) SR @) IR
n ¢ Indiahas signed the ‘Mahakah Treaty’ as a Water Treaty with which of the following countries ?
fi (1) Nepal (2) Bhutan . (3) Bangladesh (4) Pakistan
45. IZIE o AFHR o e FeicTiad 7 & fore e 1 it arerem ] 9
%7 i IR ) B < B (3) ag @) 9w
Among the following, ‘Tat Vadya’, according fo the Natya Shastra, is which kind of a musical instrument?
(1) Stringed o (2) Water (3) Wind (4) Textual

46. mwﬁwﬁa@ﬁwﬁqﬂeﬁﬂ%wﬁqﬂ?

»-p (1) we @) T vy wfw g (4) R
Who was the first womafn recipient of the ‘Bharat Ratna’ ? :
(I) Mother Teresa ¢ (2) Bachendri Pal (3) Sarojini Naidu (4) Indira Gandhi
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A1, !nf GER) ’“\’ ' "of‘f/ﬁm"f li # 5 “hikf ‘f’ﬂ fﬂﬂjiv[.{, i fr;’y] 7 /.«‘ f.lr,“.-!j A’H,‘/“ e !i n,ﬂm‘,/.v fd"’?!d ,3’ r{“4 e g‘
aqvanibe Bt s

(1) e

(2) 14 iy

(1) S 'r"‘;
(4y 1 sty {)

t e ; T s o w 7 iy » } ) -
Hoan Baker v given e Hest Director Awsrd at the i Aoy iy 2925 Sor which of the following
movie .

v

(1) Canclave i
(2) “The Apprentice

(3)  Anora

(4) ‘The Substarios

a8, Torvas ey Saeeg o e a1 2 0

(/,
(1y 14u% “
/
(2) 1% Al
- ”./..
() 7 %0 p
(4y 1811 :
When fs the World Health Day celebrated 7
(1) May 14
115
(2) April 1% <
J
(1
[
(4) March 14 4//)
{es)
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s e MR el T T SR i
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(1) e HHarad Q) e
(3) wErEH ) TS TS

Which Governor General of the East India Company devised the policy of the ‘Doctrine of Lapse’ ?

(1) Lord Cornwallis (2) Lord Wellesle_y
(3) Lord Hastings (4) Lord Dalhousic

196\‘11?&”{1‘1%13(31@@9{31@1‘ e STieTe 3 T (o) B o 2

3 50.
t
4 (1) TR O (2) cifean TS
k (3) SatIIm TR ) (4) e B P
1 Who was the founder of thei. §amam1 Movement which started in India in the 19th century
(1) Guru Ghasidas (Lffi 2 Pandita Ramabai
(3) E.V.R.Naicker ‘:;\ (4) Jyotiba Phule
51. ﬁm%’@aﬁﬁﬁm%mqﬁm%@qam%ﬂ%? \ :
0 (1) Jared () 3 e 4) Tt
Which among the following is an Asian country ? .
(1) Belarus (2) Kosovo (3) Cyprus (4) Estonia
52. TSN HT I SHHIH T & &
1) 12 (2) (3) 16 @ 11
What is the Atomic Number of Sodium ?
1 12 (%)J (3) 16 @ 1
53. ﬁﬁ%@ﬁﬁﬁ%ﬂ%ﬂﬁaﬁ@p% it gu fate 3 T Hfeer 1 wsgaf o &9 § Faite frmr
(1) i ©) (2" ifer
(3) et 4) W@
Which of the following countries elected a woman President in the elections held in 2024 ?
(1) Algeria (2) Namibia
(3) SriLanka (4) France
54, frmforfaa 4 & o reTdia d-aiiisft waifersh sieft ST sreft s e 2
(1) st o ) T
() SERkaT & @) o
English is the most widely SP°k°“ language in which of the following continents ?
(1) Oceania , 2) . Euxops
(3) Affrica ) @ Asia
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2
____________________________________ (19) %
mﬁ@aﬁﬁw%mmﬁgmﬁﬁ art 2023 i sy Al i el 0 ‘E‘ﬁﬁ“ﬁ"ﬁ’mﬁmm
27
(1) A e afte
@ TR ¥

(3) R
) Wﬁ'—ﬁaw—(‘ﬂ (f)
Which of the following places in India was included recently in the list ()I' UNESCO World Heritage Sites
in 2023 ? )
(1) Red Fort Complex @
(2) Khajuraho Monuments ]
(3) Humayun’s Tomb s
(4) Santiniketan <'_;‘J

@)
o 7o firer weer, 2025 i STt ael g o1 ?
(1) *fAm
(2) S
(3) TR

W
@) et @
Where was BIMSTEC Youth Summit, 2025 held ? ()
(1) Srinagar @)
(2) Jaipur ]
(3) Ganhdhinagar o
(4) New Delhi J

&)
Prerferfae 1 & S-a1 THeT ST T forer § R @ 2
(1) g S
(2) eSS

J}T W‘Sﬁa G

(4) i -0
Which of the following Ramsar Wetland sites is situated in Bihar ? E\;
(1) Renuka Wetland L1
(2) Kabartal Wetland Y
\(3) Nanda Lake 5l
(4) Deepor Beel @)
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59.

60.

61.

62.

forer srehTe 3 Wit ey b wiiflaeh ST ST TgeT B SR 7 B8 U1 o STt § qfsa grar g 2

(1) wudrr RrerwRerr ge v (2) dwifeRd I

() IHIAIH (4) TaRifrd gy

Which kind of a Parliamentary question requires an oral answer and is printed on a green paper ?

(1) Question on Parliamentary Privilege (2) Starred Question
(3) Short Notice Question (4) Unstarred Question

Tt st e (ot ams,) 1 P 3 & faver weem & fefiree aftad ey, 2025 (i 2o
3EE, 2025) e 2 o0

(1) uRRws fsere S (qts) (2) zet SifehT, e

3) FradsEedw O (4) STRIRT IR 1Y (ATE.TH.IF.)

Which institution awarded' the Reserve Bank of India (RBI) with the Digital Transformation Award, 2025?

(1) Asian Development Bank (ADB) (2) Central Banking, London
: (4) International Monetary Fund (IMF)

(3) World Bank
T weor & waes i%zw ﬁm%%aﬁﬁ%aqmﬁaﬁa@aﬁ)%mm%V
(1) #TELW(?IWR:I) @) S (@) (3) =l (@) ferenif

Litmus, used in a litmus test is extracted from which of the following plants ?
(1) Lemongrass \_(2y" Lichens (3) Turmeric

veidt shifr 2.0 FeferRed § & frgeh s e HI R 2

(1) 3TarE IR el ﬁmrﬁm TRA TR

(2) HEHINET HATCH, WW

(3) @WeF aﬁwﬁwww TR TR

(4) TTHIOT Rt HATET, TG SRR

‘White Revolution 2.0 has'been launched by which of the following ?
(1) Ministry of Housing and Urban Development, Government of India

(2) Ministry of Cooperation, Government of India
(3) Ministry of Health and Family Welfare, Government of India
(4) Ministry of Rural Development, Government of India

o foez o R P 2 et s e o, e e P & ey st e 1

(4) Licorice

(1) R = () () VRS Tew
(3) M ) ) TR
‘A Tryst with Destiny” is a fimous speech delivered b
Py y which of the fol] 2
53 owing personalities
& MK Gt O %) Jawaharlal Nehry
o A (4) Sardar Pate]

&)

/
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T
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FAddaaw . =

ool § E .E
WAMIE O L s e s (21) _,___-_ﬂ_--_--_--_--.ﬁig;’s.
63. =5 2025 F T ANA F Ve GA- AT Fely Pt wirmTer (34U AT dfel HISEH) TRl e
&7
(1y FemEmEE (2) FTE (3) 7 el (4) SFEHE
?;he::c-js India’s first ‘Open-Air Art Wall Museum”, set up in 2025, located ?
(1) Vishekhapatmam  (2) Bengaluru (3) New Delhi (4) Ahmedabad

64, TE FAE, A TN ] A (3: A1) fat it qea geReT wad, 2025 H farifaa 3o |

TIAT =l 3l q———c-{me; g

(1) SEwed () T 5 sy gEnER (4) HRR A
The maugural edition of the bi-annual Hindi \/Iagazme of the Ministry of Defence was released in February,
2025. What is the magazine called ? )

(1) Seema Prahari (2) Raksha Darshan '] (3) Suraksha Samvaad (4) Sashakt Bharat
65. 14===0— 18 =94, 2025 @ Waﬁmﬁ:mmmmmmmﬁwwm% ?

=

} SRE I \’(a’—.:ﬂ"gmig

-

) IR AT (4) fagam

What is the name of the President of the Republic of Singapore who undertook an official visit to India from
Jenuary 14 — January 18, 2025 ?

- -
pees

)

(1) Lawrence Wong (2) Chee Hong Tat
{3) Tharman Shanmugaratnam (4) Sim Ann
66. ETTE WR H@TE FIEAM TG @%mﬁw@maﬁqﬁaaﬂtmﬁmwwﬁﬁm3 EEDERI

29 S

. J

(1) g e )

(2) TE=ATET ETEEeA-AIaa WH?TEFIWW ]

(3) FThHEFgTa ArEd (AT, HiEga) ﬁ

(ay o g G)

What is HANSA-3 (NG), which has been indigenously designed and developed by CSIR ?
(1) Trainer aircraft
(2) Newengine for proposed Hydrogen-powered train
(3) Artificial Intelligence model
A4y New Robotics Technology

67. Trstetaa § @ #E-a 1 () memmiﬁmw ClEER SR GERREE

iy T g B O (@ @i forst
(3) =izAch 9 i 9 (@) b3 giE gk fdw
Which among the following is India’s first vertica& lift railway sea bridge ?
(1) The New Pamban Bridge ] (2) Bogibeel Bridge
(3) Bandra-Worli Sea Link (é) (4) Mumbai Trans Harbour Link

TF &1 & feTu sg /| SPACE FOR ROUGH WORK


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

. Addal2417 ‘ ,,

ANRIB = F e B e (22) ‘”
68. HTE 2025 T ST @ 3T W TR 2025 o R FT A1 2
(1) e
(2) g g R
(3) Issaar
@) e
What was the Mascot of Khelo, India Para Games 2025 which was held in March 2025 ?
: (1) ‘Sheen-e-She’ 8
| (2) ‘Veermangai Velu Nach_iyar’
i (3) ‘Ujjwala’ )

4) ‘Mauli’ »

69. T Rra iRy, 2020 3 ST St R ST 35 < oA (@) b1 ST fa T @ | g A e
TR (S TSR e o et Ra 3 & i-a e diar e e 2
(1) e e i geaisT
(2) TERITSAT S T
(3) HehTe s TaX FHefor
(4) fomr-gior -
Of the four verticals proposed of the Higher Education Commission of India by the NEP, 2020, which of
the following is the task assigned to the General Education Council ?
(1) Assessment and Evaluation of Infrastructure
(2) Accreditation of Institutions
(3) Academic Standard Settmg
(4) Financing el

70. 9, 2025ﬁﬁmﬁr@aﬁ%%ﬁm@ﬁaﬁaoz@%m%@waﬁg&maﬁﬁgmﬁmm
frag ?
(1) @iies g
(2) T faE
(3) ihEw
(4) ot e

In March, 2025, the Hockey India Balbir Singh Sr. Award for the Men’s Player of the Year (2024) was

given to which of the followmg player ?
(1) Hardik Singh e
(2) Harmanpreet Singh G)
(3) Abhishek | “
(4) P.R. Sreejesh = -

i
.1
()
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9T IV / Part IV

71, In the following question, rearrange the parts in correct order to make a meaningful sentence.
A. just eight inches in height

B. onanisland

C. people who measured

D. Gulliver came across w
(1) CADB (2) BDCA \w/ DB AC ) (4) ACDB
72, In tl;e following sentence, choose the option which correctly 1dent1ﬁés the Part of Speech of the underlined
word : 7]
Children of all countries like sugar. i>
(.13/ Preposition 2) Verb J
(3) Pronoun @) Adjective’
73. Inthe following sentence, choose the option which correctly identifies the Part of Speech of the underlined
word :
The moral law is always above the civil law.
AT Adjective (2) Pronoun
(3) Conjunction (4) Preposition
74. 1In the given sentence, identify the Clause of the underlined part : ',f
A dog that barks loud does not usually bite. o
(1) Adverb Clause 2) Prmc1pal Clause
\Q;ﬁ Noun Clause 4 Adjectlve Clause

75. In the given sentence, identify the Clause of the underlined part:
The beggar begged that some alms be given to him. {7
(1) Principal Clause (2) Noun Clause

(37~ Adverb Clause (4) Adjective Clause
76. In the following question, rearrange the parts in correct order to make a meaningful sentence.

A. more than a hundred people died
B. early in the morning

C. according to newspaper reports 5

D. in a tragic rail accident <O
\/(,l/)}BCDA (2) ACBD (3) CADB () (4) DACB

In the following sentence, identify the part which contains an error™

77.
No other monument is taller than Qutab Minar in Delhi. %
A B C D )
! ™)
B @ ® o © @ A

% T4 % foTe 17T / SPACE FOR ROUGH WORK


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

-
- o o -
-

-——-
- - -

78. Choose the word nearest 11
Apathy ) o
(1) Indifference e l ; sentence.
dentify in the given s€

79, Identify the Tense 0
I have never met the gentle
(1) Past Indefinite

(3) Present Perfect Continuoug
fy the part W

(3) Bitterncss m”‘)"m"y

¢ the underlined part
man before. 2 Present Perfect

(4) Present Indefinite

hich contains an €rror.

ntl

80. In the following sentence, ident:

Y e tion.
I am sure the candidate il_"_}g_/_of& the election.
\ D

A B C]

D 4) C
(1) A \JZ)/UB )

81. In the following question, ch()(),ic the option in which the given sentence has been correctly changeg ;
Active Voice to Passive Voice.™
His juniors accused him of being haughty. o
(1) He has been blamed for being haughty by his juniors.
(2) He was being accused of being haughty by his juniors.
\IZ{ He was accused of being haughty by his juniors.
(4) He was accused of being haughty.
2. In the following question, choa¢e the option in which the given sentence has been correctly changed
Active Voice to Passive Voice3™
The audience loudly cheered the fiery speaker.
\(y/ The fiery speaker was loudly cheered by the audience.
(2) The fiery speaker was loudly cheered.
(3) The fiery speaker is beingdoudly cheered by the youthful audience.
(4) The speaker was cheered by the audience.

. Choose the option which correct : oive : .
83 A hispﬁ'iend, o cﬁ f::?f:lsthc given sentence from Direct Speech to Indirect Speect
+ {1y~ He told his friend that he has cleared the test.
(2) He said that he had cleared the test.
(3) He had cleared the test he conveyed to his friend.

(4) He told his friend that he had cleared the test

84. Choose the word opposite in nmiéznine o
Audacity P Mg 1o the given word,
S~ Bravery (2) Trimid;
imidity
) . ey 3 e
85, Choose the option which amg,c'f{y identific the (3) Depression (4) Weakness
Who wears such funmy clothes €8 the Type

w"/}!’v ‘ f( ;n-na ’ .
(1) Exclamatory 2 party 2
¥, \J~ & MerTogative

of the given sentence.

(3) Ncgali\le (4) Afﬁﬂnﬂﬁw
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WOT IV / Part IV
g6, PR ¥ I T afismr sy,
0 =dw @) f?ﬂf{‘ )
U_‘,\"’E’r’ﬁ'{‘\w @
S?- -‘5"&‘:?%"337?53%?

b
@ =

() sEErwR () TIAGR

Nt SRR ¢ sy

§9. T O EE R O o e M

() SEE
(3) IEErEET
9. =T I wwa=ge.
L SRR R g
(2) T ETEE ot SR IR SR e ¥ )
() TEITETE T
(4) ¥ SR R Yo ¥ 58 s wwan

2) a‘i@aﬁ%}w’
B ERET T ®)

2
91. TIISmr F=iaisg e 5 ¥ fve =t ¥ oimfa et 2 0 O
(1) gwE=t 2) mn:ﬁ@‘
3) R o TR R
92 Wﬁam%‘@ﬁﬁmﬁaﬁvmm%? .
T A SR S : S
B SR Q) F=divE

3 fm () T

93. Tr=fafaa T H A el e
(1) dw-_tz (2) T - Fouw
() 3w - e W e - s
()
94. Trfaiaa 7 ¥ w2 = wHiaa 797 2 - ;s
~ i (S
(B @ &
(3) ' @) ¥ o
Nl
&
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ddak4?7 | |

~d Ll® lde | N | o

95. TR E | g A @ik T R
(1) Frvaams gdam
(2" Froraress g
()  AfvagaTas g
(4)  TEyaTEE TETH
96.  FetforRan § 4y A
LY T3 e o |
(2) 99 AT 79 T S T |
3) ﬂs‘f%aammuﬁfﬁal
) WiIsweahe
97, Frferfian i & srerivit o ad s 2

FAUT  FE it FRw
A B !;_:D
VB, A, D, C {1
(2) A,D,C,B ®)

() B,C,D,A
(4) A,B,C,D

98. frmiferad & & sraaree gy & -

(1) s
(2) & :)
3) femrer O
4 yftaeran )
99, et & e L
() s -
2) W )
N
(4) @

100. Freferfes o & i g omfig 2 2
uyfea s wfife wfevem T RAE |
A B C %D

M A \,(2:)”/(3 3 B 4 D

i)
2

{ L
L

& }
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879110 R S R RN S S (275 %
AV / Part v
lﬂl' iﬁﬂicli@fl u WW-WW Diﬂ-,., g AT 57 (V\(gb b’l'f)'}/}-«/;)’} ?: g

oz
(1} 755 (2) g
(3) T A Ly AT

Which of the following is a well-known web browser 7

(1) Google Meet (2) Google ([;!35,

(3) Googl"c ‘Sltcs 4y « jmg_ﬂeé‘brcjme

102, ﬁﬂﬂaﬁﬁ HH T T A A0 (Viral Assiswan) 71 77577 27
(1) &SI (Corel DRAW) (2) F=1 ((J;;;','a)

A" Bl (Cortana) (4) Hroms 737 (VLC Player)
Which of the following is a well-known example of 2 Virtuz] Assisiant ?
(1) CorelDRAW

(2) Canva
(3) Cortana

(4) VLC Player
103. FPIZ AT o H2d § OMR 1 758 B1a7=1 701 %7 g2=10 «

(1) AT T2 T (2) Hfz i

(3) AT Tz frerrdr ' ‘zM)/ Hif=s7 g =

Identify the most commonly used full form of OMR in the context 6f 2 computer system :

(1) Online Macro Register (2) Optical Mark Reader

(3) Online Macro Recorder (4) Optical %ark Recognition
104, FreAferfiad & & #9-81 v St =z 2 2 -

(1) Sifa=z o1 (Premiere Pro) (2) 21 (Tally)

UZ1zZ (Android) (4) TEH (Safari)

Which one of the following is an Operating Systcm ?

(1) Premiere Pro (2) Tally

(3) Android (4) Safari

105, Forey TozaaT =1 S7Am (A 221 Tl framdsfiImma R ER AT T S R TS iR =W
z 2 aphical) =i HitFE &9 =0 FA 4 F [0 B8 T 77 20 ?
g I (grap i

Z 7T (4) FEFETE T2
(3) HTZAHETRE TATES

: frware is best suited for storing sales data of 10 Salesfgrsons over the last 12 months in an
L ey erforming basic graphical and statistical analysig';gn it?
(2) Microsc;ﬁ Word
(4) Microspg Paint

organization and p
(1) Microsoft Excel ’
(3) Microsoft PowerPoint
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106. T fRiZie (MS Windows) " ) el A g (Undo) ST

N3] T a1 o R ST © (Redo)

107.

3 F8E WIS (Cloua d Storage)

108.

(1) =rafia dee i S T o ST @
@ fray i gl 2o T =T fohaT ST ®
board shortcyt 9

In the MS Windows Operating System, what action is performed using the Ctrl + Y key
(2) Undoes the previous action

(1)  Zooms out selected text ;
(3) Redoes the action (4) Selects all textina window

R e | W;ﬂ%ﬁ (Google Drive) 1 STy 37T T AT ST N E ?
(2) iféT faged (Operating System)

(4) UA-IEE (Antivirus)

What is the primary and@host common use of ‘Google Drive’ in a computer system ?

(1) Browser [ (2) Operating System

(3) Cloud Storage &> (4) Antivirus

T foeie (MS Wmdgws) § AR (Paste) SATRTA 3 RIC AT T F ST FaT S 1A HIE i
FLTR?

(1) Ctrl+P (2) Ctrl+X

(3) Ctl+z S o\W T Cl+V

Which of the following is the commonly used keyboard shortcut for the ‘Paste’ operation ir
MS Windows ?

(1) STSSK (Browser) \o

o
(1) Ctrl+P -0 (2) Ctrl+X
(3) Ctrl+2Zz ( ) 4 Cul+v
109. frefafaa & @ - Pﬁﬂﬁi‘?ﬂaﬁ JSE YUITeT (Database Management System) & ?
\/( TTShIGTIE T (Microsoft Access) (2) foafsa (WinzIp)
(3) THTH T (MS Eé(cel) (4) ¥ (Safari)
Which of the following is’a Database Management System ?
(1) Microsoft Access (2) WinZIP
(3) MS Excel (4) Safari
110. Fr=RIfaa 5 & #hiH-81 Tk S9H- (open-source) I8 TRIRIT Higeda (word processing software) =T JfHg
JAEAVE ? =
(1) R TR (C r§l WordPerfect) (2) T IS (Apple Pages)
(3) HTEHHIEE 9 (Migipsoft Word) \4Y” Femtaiieg et (LibreOffice Writer)
Which of the followmg[!ﬂs‘]a well-known example of open-source word processing software ?
(1) Corel WordPerfects (2) Apple Pa ges
icrosoft Word (_ i
(3) Microsoft Wor (%)] (4) LibreOffice Writer

-
T @ & fTe S / SPACE Fop ROUGH WORK


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

_ AddaR47 _ XX

==
111, Freaferie o & 1981 Feger freem  fidiaer viror 37T (Secondary Storage Device) F1 FFR 2 ?
(1) T (ROM) ‘ (2) %9 UHHT (Cache Memory)
\B)" WA 1T (Flash Drive) (4) W RAM)
Which of the following is a type of Secondary Storage Device in a computer system ?
(I) ROM (2) Cache Memory _
(3) Flash Drive . (4) RAM

113.

ﬁﬁ%@ﬁﬁﬁﬂﬁ??ﬁwm(appllcatlon)ﬁm?&{?%ﬁﬁaﬁwm <A ST
9T (language) 78T & 2 ]

W R (2) Python &
3) C# @) ﬁm@mh)

Which of the following is not a popular programming language USed for developing computer
applications ?

(I R (2) Python

(3) C# (4) Pixlr

frtferiiea & & a1 o drarad aren atw 2, o o T wew faraaim Fe i s A § IR A e &
ATfeh S okl 3o UTHaTE, gz 1S fam ST STt ST SR |1 4 & o Feaman <1 9 2

(1) TEAH (Adware) \/Qa/ﬁ'ﬁﬁm(]’hlshma)
(3) ¥9 (Spam) (4) T (Worm) ,.

/

Which of the following is a type of fraudulent practice where emails or messacre:. appear to be from trusted
companies to trick individuals into sharing personal information like passu ord: and credit card details ?

(1) Adware (2) Phishing (]
(3) Spam (4) Worm @)

114. Fr=ffad 3 & FH-91 S22 W0 ARy 69 397 71 R0 FE 2 9

TS (Edge)
(2) 3ITE (Yahoo)
\A&] T (Google)
(4) TS (Bing) :\2
Which of the following is not an example of a popular search engine on thf,jntemet ?
(1) Edge 0l
(2) Yahoo e
(3) Google a
(4) Bing ®

TF 14 o foTe &7 / SPACE FOR ROUGH WORK
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e

JAIEY (30) DT AR T .
1S, FEH IC AR ST R Pl e e 2

(1) SSWEFHE (2) FEFAE

Q) whewee (4) g

In computers, what is the full form of the acronym IC ?

(1) Interface Command (2) Input Command

(3) Intelligence Circuit . Wﬂtegated Circuit

. &
T
-

116. ﬁﬁ%@aﬁﬁﬁm@m@ﬁmmaﬁmmwm (image file extension) 2 7

(D) .pdf ) [ wav 37" bmp (4) .mov
Which of the following is c0111rgbnl§-' used 1mage file extension ?
(1) .pdf (2) Ewav (3) .bmp (4) .mov

117. 35 TSl (e-commerce terminology) H, UPI &I Ul € &1 8 ?

(1) gEese Yo Sha

Q) IS YHeE o=

(3) TREWEEDE

(4) IS UHeH o= ‘\

In e-cgmmerce terminology, \\\Hax does UPI stand for ?
Unified Payments Interfa;éi

(2) Universal Payvments Inter&j‘émge

(3) United Payments Interface ;

(4) Unicode Payments Interchange

118. ST A9 “myfile.mp3” 1 - BIS THR 7T 2 ?

(1) FIEEA () difearerg
(3) IS TR BIsA \ (&St Bree
What is the standard file type of‘a file named “myfile.mp3” ?
Q
(1) Image File ¥ @ (2) Video File
(3) Word Processing File t—}; (4) Audio File
{3
@
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i
J._A:J_/‘I::_fl' ______________________________________ (31) _____-..-—-—--—"""':E'}'z'g‘ei-
119, ST & g drenfieht stfifem (1T Act) ; I fofT T o |
(1) 2020 () 2000
(3) 2012 4 2008
The Information Technology Act (IT Act) was introduced in India in
(1) 2020 @) 2000 %
3) 2012 4) 2008  °.
()
120. FrAferiad & & - wama wiwedm % R yig 722 2 l
(1) AT (Avast) (2) TFHTH (McAfee)
By ¥ (Ubuntu) (4) FeqTERTs (Kaspersky)
Which of the following is not known for antivirus software ?
(1) Avast (2) McAfee
(3) Ubuntu (4) Kaspersky

£

121. R 6 SER Frafefad § & S F-a s T Jaemee W (@9) ( (URL)traﬁnﬁTa'?W% ?

(1) 3% (0-9) N Akl (@)

(3) SEE() (4) 3 (a-z, A-Z)

Which of the following is not allowed in a valid website address (URL)as per convention ?
(1) Digits (0-9) (2) “At the rate’ sign (@)

(3) Dots (.) (4) Alphabets (a-z, A-Z)

122. Fr-Ot O TIHE B AR ST B §-hHH wehHE ‘Myntra® =i HTfTeh & 2
V(’U/ foeTaete (Flipkart) ~ (2) WSH (Amazon)
(3) S (Zomato) 4 ﬁam(m;_ﬁance)

2

Which company currently owns the popular online fashion e-commerce’platform ‘Myntra’ ?
1
. P
(1) Flipkart (2) Amazon ¢
€

(3) Zomato (4) Reliance &)

% 1 o foTu g / SPACE FOR ROUGH WORK
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123. WTERIETR o i 98 qwre 1 fewiee et wraym 1 A fau o feedr 4 A il

124,

125.

126.

127.

s

) i \ﬂ")/:(l()cx

(3) .word (4) .mswx |
Identify the default file extension of a Word document of Microsoft Word from the options below
(1) .mswd (2) .docx
(3) .word o (4) .mswx

e

o ot A
ﬁ%ﬁﬁ%mﬁmﬂ AT .pptx WWWW?WW ?
HTSHIETE TatuTEe (Mlg Bsoft PowerPoint)
(2) HIEHEYE weE (M10roso¥t Access)
(3) TS BRI (Adobe Photoshop)
(4) HIEHETRE Iz (Mlcrosoft Paint)

Which of the following software would you use to open a file with a .pptx extension ?
(1) Microsoft PowerPoint

(2) Microsoft Access

(3) Adobe Photoshop

(4) Microsoft Paint

ﬁwflgﬁaaﬁﬁﬁq-m H}Iaafﬁgggprotocol) $2TE T HIge TAHa1 (transfer) #79 F A0 Gam=a: y9m f5=
STt & 2 ~
{ { )

.

(1) SMTP (2)2) VoIP \(3)—FTP (4) TCP/IP
Which of the following protopols 1s commonly used for transferring files over the Internet ?
(1) SMTP (2) ' VoIP (3) FTP (4) TCP/IP
fFefaRaa ¥ s o sqqz%msq% 9

(1) T (Printer) \/(2>,/§a Fq (Webcam)

(3) UsE BhH (LED Screen) (4) ¥ (Speaker)

Which one of the following is an input device ?

(1) Printer (2) Webcam

(3) LED Screen i‘:‘) (4) Speaker

o

eI Tieisie (networkmgprotocol) %W‘T ‘HTTP’ & SECH SR TS Ear s 2
¢)) HEHES (Hybrid) (2% HECDIS (Hardware) \533/_6'!?‘?( (Hyper)

(4) TFET (Hexa)
4_,..
In the context of networking protocols, what does the letter ‘H’ in “HTTP’ stand for ?
(1) Hybrid (2B) Hardware (3) Hyper 4 - Hexa
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(L LaN (2) PAN (3) MAN @) WAN

es
In a computer lab, 30 computers are connected using an Ethernet<cable and a switch to share resources.

Which type of network is most likely used ? 32
I, T
(1) LAN @) PAN 3) MAN O 4) WAN
1 3 . /ﬂ}-'
Cos &) =
129. FETTRET S 8 .10 o e o o e s e s i o 3 9 ¥ xn
(__/[5, -
ppm (2) Mbps 3 MB - @ dpi
Which of the following units is common

y used to measure the speeH) of a printer ?

(1) ppm (2) Mbps (3) MB (4) dpi

130. PR & e e e v (gt vt et s P

\gJ/)/KB<GB<TB R i

(2) MB<TBXGB
==

(3) KB<TB<GB 4) TB<MB<GB -

]

Which of the following options shows the correct increasing order (‘)‘f‘ ;MEmOry capacity (units) ?
(1) KB<GB<TB 2 MB<TB:3\<GB

(3) KB<TB<GB (4) TB<MB<GRB
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